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Algebra II Transformations on Quadratic and Absolﬁtp Value Functions
STUDENT NOTES '

Essential Questions:
e How do I recognize/perform transformations on quadratic functions and absolute value functions?
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Graph each function. You must memorize these “Parent” graphs
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Partl - Vertical Translation or Shift {Outside):
A f(x)=x Y =¥
Graph y, = x {(dashed)
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Explain how a parent graph moves when adding on the “outside” and subtracting on the “outside.”
Graph the functions without a calculator (first draw the parent graph using dashed lines)
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Graph cach equation. Draw the parvent graph with dotted lines. Label the vertex in the form ( , ).
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